Hele's School

Name

Welcome to maths at Hele's!
Please complete the first section of this booklet before you start in September and mark it!

The second section has a variety of challenges for you to complete if you would like to.
The answers are on our website: www.heles.plymouth.sch.uk/documents-for-parents/




Key Terms

Please write down the definitions for each of these key terms that you will be

covering in the first term of year 7.

Can you learn how to spell them all by September?
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Horizontal

Vertical

Thousand

Hundre'dth

Negative

Positive

Obtuse

Triangle

Opposite

Isosceles

Quadrilateral

Integer

Triangular number

Square number




Cross Number!

Solve the sum and write the answer in words in the space provided.
Now scarch for the words in the answer grid below, the answer may be in any direction!!
The first one has been done for you.

34 + 17 = FIETL ONE

1). 47-31=_ SIXTEEN 2).  50-24=TueNT{ S&x 3).
4). 93-50=Fou™MTuREE  5). 24429 = F\CTYTHEEES). 85 - 64 = TiuenTy ONE
7). 46+ 18=SN™ Foug  8). 71-39=THRT Two 9). 67-48= puneTEEN
10). 26 +46 =SEveNT™ Tiwo _ 11). 96-66=THL™ _ 12). 54-37=_SEVenNTeen
13, 13+46=_O\F™N NG 14). 27+ 38 = sixMFAwveE 15), 64-33 = THIRTY ONE
16). 80-58 =Taen™ Two  17). 39+ 1= 5™ 18). 70-57 = THIRTEEN
19). 53-33 = TweEnT 20). 21467 =E1GHTY BXPR1). 19+ 18 = THATN Seven
22). 27+ 18=FOR™ FWE __ 23). 61-47=FockTeeN 24). 16+ 33 = Fol T pineE
25). 75-60 = F\FTeen 26). 46+ 23 =SiwTy NINE2T). 29 +47 = SEveNTM 1Y
28). 94-87=_sevew 29). 58+ 24 = EIGUTY Twd0). 26 +65 = NINETY ONE
31). 48 +44=MNEN Two  32). 43-33=Teen  33). 21 +66= EIGUTY SEVEN
34). 63—55‘: E\GHT 35). 72-63= _NjiNnE  36). 194 74 = n\INETN THREE
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Multiplication and Division

Complete without a calculator! Then check your answers on a calculator.

la i) 5x6=130 b i)|S|x 2 = 10
i) 6x2=12 i) 20+ |5F 4

i) 9x3= 27 i) 5 x|[3|= 15

iv) 6x4= 20 ' iv)[12]+ 2 = &

v) 7x6=0L7Z V|6 |x 5 =30

2a i} 6x0 =0 b )| 7|x 6 =42
i) 7x8 = S6 | i)ye3 +{9q|= 7

i) £0x6= 60 56+ 8 = 7

iv) 36+6= 6L iv) 6 x|9 | =54

v) 32+8= L V) IBIx 8 =64

3a i) 27+3 =9 b i)|lsyl+ 9 = 6
i) 72:9= % i) 10 +| | |= 10

i) 11x7 =171 i}y 4 x [g (= 32

iv) 12x8 = 9b iv)[1Z | x 11 =132

v) 108+9= {2 v) 84+ |7 |= 12

4a i) 40x7 =72%0 b i)|®¥|[x 60 =480
i) 2x80 =160 i) 8 x|Z0| = 160
i) 30x4 = 20 i) 120+|30/= 4
iv) 160+20= B iv) [100(= 2 = 50
v} 280+70= [ vl 6 x[90|= 540




Perimeter and Area of Shapes

Find the perimeter and area of each of these shapes. Each square represents a square
centimetre...

1 2
|

Perimeter = 1[0 G

Perimeter = | {-Cony

~ - r
Area = |1 4cm Area = l m
Perimeter = ‘Q} (. Perimeter = lem
T
mrea= | b dmm + Area= 9 cmi

¥
3 Draw as many different rectangles as you can on the grid below that have a

perimeter of 20cm and work out their area. (The first one is done for you)
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Angles

1. State the type of angle (whether each angle is acute, obtuse or reflex).

2. Estimate the size of each angle.

3. Measure each angle accurately using/a protractor.

Type of angle ||Estimate Measufement Type of angle Estimate Measurement
1| acvte 5% 9 | reflex 290’
2| oeade 95° 10 | refiex 205"
3| acvke [La° 11 | reflex 207°
4| obkuse e 12 | aeute 15’
5| obkuse \57° 13 | reflex Z34°
6| obtuse 156" |14 | obluse (13
7| acuke 10 |15 | ebkuse 125°
8| obkuse No" 116 | reflex 26k’

(RLL pl |°)




Subtraction  Can you use the column method to complete these sums? You must
show your workings!

1. 76-34=
6
T34
L2

3. 80-45=
Tl
%3

35

5. 8189-147=

B1% 9
- 1L

sou2

7. 89.6-4.2=

oA

R
A
Flreo

2. 872-651=

72
T 6s|

22

4. 564 -273 =
begle Ly
75
291

6. 238—-59=
[ ‘Zg'g

- Z‘SC&
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8. 615.47-23.5
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Averages:

What is meant by the following terms?

Mean The meon s found bj adck_d\gﬂ vp ol Pae
dako V(L\U&S ond Hen dt\JLqu bﬂ homg/\b&m&

Mode The mode 13 the most tequent valuve

Median | The median s the muddle daka value. when
e daka s 1n order

Andrew is a cricketer. These are
the number of runs Andrew has
scored in his last 11 innings...

2 18 26

= 63 63 72

Michael is also a cricketer! These
are the number of runs Michael
has scored in his last 11 innings...

0 0 0
614 0 0

1 0 1

15, 25,26, L0, 42, SE, 63, 63,772,112

Who is the Better
Cricketer...

Andrew

Vou need to
N de cde

Michael?

Can you work out the mean, mode, median and range to help you make your decision?

Could you argue that the other cricketer is better?

Ne.oN O c:\e, Med‘l&ﬂ (ou\\cse
Andrew | =0 63 L2 qi.
vchaek | ¢ O O 61




Show me your methods for multiplication and division

-ﬂi\f\le ore Moe t}\*‘ef ested \m %ou( M@Hf\od

Hhan

the answiers

23 x 34 ~1%2

234 + 6 29

345 x 241 221 LS

374 + 11 2L

decimed
Place$
12.7x 3.4 W3- 1% 3.52+0.8 (- Ll-




Shape:

For each shape write the name and properties of the sides, angles and symmetry. The

first shape has been done as an example:

1. 2, 3

k,cx,f\ L

Equilateral Triangle Qec 3\ Q\'\OM\)US

Equal length sides, none are parallel. OPPO") dfe- 5ld QS ALl SLdeb 6&\
Equal size angles, all 60°. e@ '0 len
Rotational symmetry order 3. w\d c\ra\)\ Oppcﬁl. (_)ﬁ les
No reflection symmetry. (J(LL ON ‘e_& CIO d—r ordefl OPPDSL%‘:,SIJ&‘S

“\'No mes OF :jmmekr:j ﬁo\-a!r\of\&\ ngmm%

<> Two |m¢5 of SjMMQHU

Tropezium Kile U.QJD
One. Pwsol‘— eg(&ulk 'Two PCU-(S OF O-CACLCQA}— pc}.!é;;%‘-«tﬂd 5((}23

sides e i len H’\
One pois OGFU eqgrs O“f)us eovud ,\pw—oikﬂ
One line of émeeJrrj OP?ogtke cmgle—s

No Unes of .Sjmdfj
Qo\akm/\ a) s gg\f\f\d‘f Y,

7. 8. 0.
ﬂegv\w’ Ocka.gor\ ‘ 1

Square Crrcle
Mbl]?\ke‘\&ere\-gtkd ﬂ’tcrl ades e—‘]’\’d |nF;(:L\—e lnes of
AL angles equol (135) in length - Sy ey

oppomte S{ O BF in o e
Rokakron djsu}mme)rfj parailel

AU onales 90°

étﬂ\\’\: LU\G.S of S&N\N\QAU Zolakion CLO;MM e)\\rj

Four [mes of 5&MM€;‘Y\j




Fractions

Without using a calculator please answer the following

1 4 2 b . L
4 + < P
5 5 = \ =
2) 6 . 4 = 2
13 13 E
3) 6 1 = 6 _ 2 - b _ 2
10 - o 1O o S
4 7 1 = .-'——Lt- —L' = ..'é-—
) 5 L 6 "6 T 7
5) 5 1 = 5
7 ' 5 7*Z "1 | 7&
7) Cancel 35 down to its lowest terms. 2
56 paS
8) Cancel 60 downtoitsiowestterms. 6 _ 3
80 P L}-
9) What is 5 of 367 235-277=95
7 SwS = 25 fAnswer 125
10) What is 3 of 340g ? 3uO+10=3
10 3uy3z= (07 Amswer 10Zg
11) Convert this fraction from improper to mixed. 4 3 . \4
4 L
12) Convert this fraction from mixed to improper. 34 . 6 3
5 by
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Thank you for completing the first section of the booklet. | U O MM‘H(\S
Are you going on to try the challenges?! ' \‘ZOLC[’\M ,)
When you have finished please let us know what you think about this bookiet by
commenting below: ' '

(students, parents, carers feel free to all comment if you would like to!)

What do you think was helpful about the booklet, what went well?

What do you think could be better about the booklet?
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Challenges!

1. Can you complete the multiplication square?

X12 1512 o] 19
w132\ 00| 3 (40| 28|36
T156(35 |1t [10[49]63
[[]58 1s5122(110[77]99
3 |y [15| 6 |20]21 |27
12196 |60 | 24| 120|211 | 10%
6 |ug|20 17 |60 |42 |50

2. Work out each multiplication.  Each shape is a different value (0 to 12)

X




3. Venn Diagrams Challenge

In a class there are:

. 8 students who play cricket and hockey

. 7 students who do not play cricket or hockey
« 13 students who play hockey

« 19 students who play cricket

Can you show this information on the Venn Diagram below?

How many students are there in the class? 24 S\‘Ud?ﬁks




4. Angles Challenge:

Write which word or words from the table best describes each diagram below:

Acute Perpendicular Obtuse Parallel
Vertical Horizontal Reflex Angle
I7). . 18 A 193 /1) N
7
/ /f %;
e’;
215 22). / 23). 24y, ‘
25). 26). 279 ). -
29, M. / Ah. | a2, 7
™, . | /
‘\”{« T ’ /
. /\ I 5 /
* ;o
7. nga“ej 2s. HO;I'ZO(\EGJ

15, Zeflex angle
(4. Horizonkal

70, Obkuse angle
21. Perpencb:cuLof
22.  Paraldel

23. Obtuse angle
24. Vertreod

26. Obtuse angle
271. Perpen dnculor
28. Loflex angle
79. Acuvte ongle




5. Area and Perimeter Challenge:

Area = 50 units?
Perimeter = 30 units

0

Area = 20 units?
Perimeter = 24 units

Can you find a rectangle where the perimeter
and the area have the same numerical value?

cCMm

PV




6. Can you solve these three sets of problems?

25 x 2[5 = 57[] 23 x 358 = 8234
899 x 1[1] = 9[¥]89 [[170 x 392 :-.'6640

11 x [1]78 = 30[@ 38 17182 x [3]39 - 60@098'

Each red box represents a missing digit.
Can you find out what they are?

The calculations are obscured by ink blots. What do you think the calculations
would look like if there were no hlots?

59

35 + 24 :-
X 2-\ '

27 =26.7

4-1 =2.2

hd-2-1=2-2

B Could be 62:36
2% 1g=36

. , Lx g =36
Each of the following shapes has a value: 100 — 6l= 36

etc .
=17 @ =»

The value of the circle changes in each of the following problems,
Can you discover its value in each problem, if the value of the shapes are being
added together?




7. Shape Challenge Problem:

Pick one flag and investigate some of the following:- ;
¢ ¢ Q,\ . U m%‘éd

a Paﬁ I

S

i

S

ety Mace donten .

What Country is your chosen flag?

What shapes can you see in it? Can you describe them?

Does the flag have any lines of reflective symmetry? Can you draw themin?

Can you find any pairs of parallel or perpendicular lines? Can you mark them on the flag?




* Can v &Lscuss this with W new mathsS

0 2&0%& .
Could you stand the population of the Earth on the Isle of Wight?

8. Could you?

Could you drink enough in a lifetime to empty a swimming pool?
Could you fit a million grains of rice into an empty litre container?
Could you carry one kilometre of toilet paper without any help?

e e

Could you wrap up a 150mm x 1000mm x 100mm box using a smgle A4
sheet of paper? |

Could you drive in town at 10 metres per second?

Could you build a garage using no more than 1000 bricks?

Could you find a cat that weighs more than five thousand paper clips?

© P N O

. Could you eat your body weight in dairy milk chocolate in one year? -
10. Could you buy your height in dairy milk bars {side by side) with £10?

Pick one of the-above questions and decide if you could! Can you explain why or why not?
To communicate your answer mathematically you should:
e Decide on what calculation you need to do to answer the numerical .
question,
e Think about estimation,
e look up facts,
o Work with units in context.




